1960 GeV ppbar Top (parton level)
— 1 T 1 " T N R B A

= L
, A@ (ttbar) (Mtt < 450 dy < 0)
10° 3
— —a— Pythia 8.308 default .
| —— Pythia 8.308 tune-A14-CTEQL1 -
—  ------ Pythia 8.308 tune-A14-MSTW2008LO 7
10 & o Pythia 8.308 tune-A14-NNPDF2.3LO
— --+-- Pythia 8.308 tune-CUETP8S1
1 3
10t & E
107 £} E
_| | | | | | | | [ | | | | | |
— . . . . | ' ' ' ! | ' ' ' ' ' -
. 2F E
. = -
S — =
S = 7
° N _
° - _
o
™ — ; .
0 L S RS SO I B CL R L SRR SWR SR ST LSNPS T
s 1 '
£ i
s i i
S i i
je
= i i
o
05 I oL - 1 P N
| |:'!-. --k\h ,'.:- -:I’ —!..~l- j—\-l- -I|~ 1‘.‘5. TI’ 'I.- |~Y.’I- 1 ~‘.~!|—! -.I. .F. L = L 1 . 1 L I L l

0 1 2 3

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


